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suppose that you have a “count data” set ...
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oooo goooOooooooooono
statistaical models appeared in the class

Joooooooooood

The development of Llinear models

parameter
estimation

Hierarchical Bayesian Model MCMC

Be mgre/&(}eneralized Linear Mixed

flexibte Model (GLMM) -
e /k Generalized Linear
such as individuality~~ Mode l (GLM)

Always normal MSE
distribution?
That’ s non-sense! Linear model

“See the evolution of linear-model family!”
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L.ggboodoodoodbootn
2.0000000000000O000 (GLM)
3. 00000 GLM

4. MCMCOUOOOOOOOO
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probability distribution, the core of statistical model
maximum likelihood estimation of parameter A
oooooooo

el000O0O000O00O0O0O0O0OO0 O OO

elL00000000:00000000000

how to specify GLM
eGLMOIOOOOOOO
probability distril near |

ORO GLMOOOOOOOOOO

eUl0000000000 000oooo0o0o0oBoooo

GLM
@ ‘NOOO0OO0 fk0000CO”DO00O0O000O

logistic regression
eUU0000o0goobooooDoo

binomial distribution ogit link function
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1. 0d: 0bbogooooood

gobbbooobobboooobooo

ROODODOOOoOoOoOoO

kubo (http://goo.gl/76c4i) jooooooooo (1) 2019-01-21 14 /96


http://goo.gl/76c4i
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a simplified data set, easy to understand

Jodotuooooobotdououooood

ugb:000b0oobboobogooo

gobooboooobooboooobooboog.....
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O0: 00000000000 OO0ooOoO0oO0O00OoOoo0O0oO0OOoooonO

number of seeds per plant individual

000000 (00) 00D0o0o0ooooo

0000000000 0O000
00o0000OoOoOooooo Sh

oo i 000 y
00 {y}000000!

{yl} - {y17y27' o ayGO}

05000
i€{1,2,3,---,50}

00000 {y} 0000 ROODOOOOOOOOOO

Odo0oooooooooon
> data

[1] 2246452312043333427243334
[26] 3 753176465247226245451323
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O0: 00000D0OoOoooon gooOoO00ooooOoOoOoooooog
apply table() to categorize data

ROODOOOOOOOOOO

QD table() DOOODOOOO0OOODOOOOO

> table(data)

01 2 3 4 5 6 7
1 3111210 5 4 4

(000 50 500000060400 ... )
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start with data plotting, always

Jodouogoootoouooood

> hist(data, breaks = seq(-0.5, 9.5, 1))
Histogram of data

Frequency
te e

2
|

T

0
|

| booodoooooodoodo

oooo o ooo!

R

[
0

I I |
4 6 8

data
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O0: 00000000000 OO0ooOoO0oO0O00OoOoo0O0oO0OOoooonO

How to evaluate mean value using R?

> mean(data)
[1] 3.56

> abline(v = mean(data))

Frequency
tee ey

2
|

Histogram of data

iy

0
|

| 0oo0goooooooooo

oooOo o ooo!

R

data
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O0: 00000000000 OO0ooOoO0oO0O00OoOoo0O0oO0OOoooonO

statistics to represent dispersion

Doooogugood

sample variance
goobooo oo booooobuooooo: 0o oo

> var(data)

[1] 2.9861

sample standard deviation

000000 O000oooooooo (SD = vvariance)

> sd(data) o~ Histogran of data
- ooooooo
[1] 1.7280 S R

8
|

o:gooogo
> sqrt(var(data)) gooooooboobo.-0ooooo

[1] 1.7280

Frequency
i

4
1

2
|

0
L

data
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oo0ooOooooooon probability distribution, the core of statistical model

2. 000b0uooooon

probability distribution, the core of statistical model

oobooboooboooboon
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probability distribution, the core of statistical model
Empirical VS Theoretical Distributions
goooooooboodo oooo oo
‘000000070 0000 (¢t oooo) O
ooooooooooood oo

0.20
|

prob
0.10
prob
0.00 0.05 0.10 0.15 0.20

0.00
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oo0ooOooooooon probability distribution, the core of statistical model

empirical distribution

“CO0poOoooo”oO 0 O o od

> data.table <- table(factor(data, levels = 0:10))
> cbind(y = data.table, prob = data.table / 50)

y  prob
o Histogram of data 0 1 0.02
3 8 1 3 0.06
gw o 2 11 0.22
g° Ei, 3 12 0.24
“N' ] 4 10 0.20
- 8] 5 5 0.10
0 2 4 6 8 ° 0 2 i § ) 6 4 0.08

data y
7 4 0.08
8 0 0.00
e UOODO UDOOOOO O OOOO ¢ o o.00
10 0 0.00

U0 ooood

e ‘D0UIDOUOUODOODL”DODODOO
“CO000”Db00b0oobOooboooo
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oo0ooOooooooon probability distribution, the core of statistical model
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e 00000000000 DDOODO?
000 y=1{0,1,2,---} 0000000
0000000000 0000?
e0000DO0O
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oo0ooOooooooon probability distribution, the core of statistical model

000000o0o0o0oobo0o0ooobbooooooboooo?
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oo0ooOooooooon probability distribution, the core of statistical model

Mathematical expression of the Poisson distribution

0000 (000000)00Do00o00ooooo

probability
ooyt 0 0O 0dodooooooobobooboooboog

AVexp(—A)
Py | A)=—7—
y!
factorial
e D yO0O O00OD0OD0OD 4 D01x2x3x40000000

OO0
e exp(-\)=e 2000 (e=2.718---)

e OU0DOO0ODLOOODDOODLOOODLDOOODLOObOOODDO
booo—0oooboboobooboobboobooonboo
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the Poisson distribution

DO0DO0DoDOooDoOoooooog?
00000 RODDOOOO

>y <= 0:9 # 000000 (ooo)
> prob <- dpois(y, lambda = 3.56) # 000000000 OO0
> plot(y, prob, type = "b", lty = 2) > # cbind 000000

o 5 > cbind(y, prob)

S e 00 (A DO|356000 y prob

9 : “ Poisson distribution 1 0 0.02843882

5° ° 2 1 0.10124222

a9 - . 3 2 0.18021114

8 | . 4 3 0.21385056

°l o 5 4 0.19032700

i T T T — 6 5 0.13551282

(R 7 6 0.08040427

8 7 0.04089132

9 8 0.01819664

10 9 0.00719778
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the Poisson distribution represent data?

Jodouogoootoouooood

Histogram of data

O\

10 12

o

o

8
|

’

Frequency
°

4
|

2
|
:|°_~‘
o
o
O

0
|

> hist(data, seq(-0.5, 8.5, 0.5)) # 00000000000
> lines(y, prob, type = "b", 1ty = 2) # DO00O00O0OO0OO00OOOO
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probability distribution, the core of statistical model
OO00O0O00O AODQODOOOOOOO0O0

> # cbind DO ODOO0O
> cbind(y, prob)

prob
.02843882
.10124222
.18021114
.21385056
.19032700
.13551282
.08040427
.04089132
.01819664
.00719778

prob
0.00 0.05 0.10 0.15 0.20
<

00 A0D0DOO0DO00O0D00C0O0O0000
00000000 AD000M> 00
000000000: A=00 =00
eye{0, 1,2 --,00} 0000000000 y000000000 10

oad
dopy N =1
y=0
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probability distribution, the core of statistical model
OD0O00000O000o0o0oooono?

0000000000000 0000000000:
e000DDODODODOD w0 {0,1,2, ---} 000

count data

oodooooooooooooogognd

o, UUODOUODOOUOOOOODOOUOOOOO
agooo
mean = variance

e[| OUOLOOODLDOLOUOLULODODLOUO

e JO0OOD0OODOUODLOODbOUDLODDObDDbOObDOODbOOD
gon
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A changes the shape of distribution

O00O0DO0D0 AODODoOOood

\Y -\ mean
p@]M:—!ﬁ¥—l A00000D000000000
y!
8 lambda
o] 3.5
7.7
3_ =151
o
o)
23 .
o - [
8] . "
S ul =
o a"®
S agpmmn® dbbsn
S I I I I
0 5 10 15 20
y
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Dooo0oooooooooo o0 O [Nsisisisfsisisfsisisisislak:

maximum likelihood estimation of parameter A
oooooooo

.. 0n0bofooooonbbofooo g b d
Ooooooooooooo?

“fitting” = “parameter estimation”

goboooboobboooooon
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gooo0o0oOoO0OoooOoOoOoO0O o oo goooooooooooo?

000
00 (likelihood) DO OO?

maximum likelihood estimation oo

g o o0 0 0O >bOoboodogoboobbooboooboo
gboooooon

gbooobooboobboobuoobbod

0000000000 0000 xOOOOoOoOoOooooo
goodness of fit
e I MIIIOO0DMIOOODO NOoOoooOooa

00000000000 30000000000
{y1, v2, y3} = {2, 2, 4})000000000000000000
0.180 x 0.180 x 0.19 = 0.006156 00000000
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gooo0o0oOoO0OoooOoOoOoO0O o oo goooooooooooo?

likelihood L(\) depends on the value of mean, A

00 L(A)OODDOOO0OO0 AO000

ugboboggod:

L(\) = ;0 200000)x(y0200000)
x--x(ysod 300000)
= p(yr | A) xply2 [ A) X p(ys [ A) x - x p(yso | A)
AViexp(—A)

= Hp(yi’/\):HTa
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gooo0o0oOoO0OoooOoOoOoO0O o oo goooooooooooo?

evaluate not likelihood, but log likelihood!

Jodouoooooodoouod

00000 (o000 D)0oboooboo0ooooooD (Doo
oool)

O00000000000000000000000 (log likelihood
function) 00O O

Yi
kgl&&zz}j(mkgA—mX—E:kgk>
k

)

0000 logL(A) 0000000 L(\)O0O00000000
00000000000000000 A00000000000000
00000000000000000000000000000000
ooo
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gooo0o0oOoO0OoooOoOoOoO0O o oo goooooooooooo?

A changes the log likelihood, i.e., goodness of fit
AD0D000O0DOO0O0O0OOO0O0O00O0

8 lanbda = 2.0 9 lambda = 2.4 8 lanbda = 2.8
log L = -121.9 log L = -109.4 log L = -102.0
=R ER =R
- 0] -
o- o od
T T T T 1 T T T T 1 T T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
B lambda = 3.2 8 labda = 3.6 8 lambda = 4.0
log L = -98.2 log L = -97.3 log L = -98.5
R ER R
o o o
T T T T 1 T T T T 1 T T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
8 lanbda = 4.4 B9 lanbda = 4.8 8 lanbda = 5.2
log L = -101.5 log L = -106.0 log L = -111.8
=R =R
0| h 0| h
o o
T T T T 1 T T 1
0 2 4 6 8 4 6 8

oo
o
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gooo0o0oOoO0OoooOoOoOoO0O o oo goooooooooooo?

seek the maximum likelihooq estimate, A

OO000000oOooo AxO0000

0000 logL(A) =3, (yilogh — X — > ¥ logk)

-110
|

log likelihood

-1|20

2?0 2!5 3?0 3!5 4!0 4?5 5!0
e 00 OODO (ML estimator): >, v;/50 oo
e 00000 (ML estimate): A =3.56 000
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gooo0o0oOoO0OoooOoOoOoO0O o oo goooooooooooo?

no one knows “the true \” based on finite size data

O0000000000 ADO0OOoooo

OO A0 35000

| 500000000000
1 L .. gooooo ecodobooon
o o
8_ oooooo x0O0o0oooo
o
o_
o_

| | | | |
25 30 35 40 45

0O0oooooooo A
00000000000 AxoDooooo
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OO0o0ooooooooooa?

Generalized Linear Model

OJooooooo (GLM)

e 10000 (Poisson regression)

e J000DDOODO (logistic
regression )

e J0 00O (linear regression)
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4. DUoooouobb.0ooubobbouooaa

OO00OO0DOO0bOOo0OOoO0oooboobobobooooy

oooboobooboooo

kubo (http://goo.gl/76c4i) jooooooooo (1) 2019-01-21 40/96


http://goo.gl/76c4i

OO0oo0O0OO0000: ooo00000oooaO jo0oo0oo0ooO0ooooooooooooon?

body size x and fertilization f change seed number y?

Jodouoboooobotoouooood

oo e
0o Q.Q....
response variable seed number [ERERERE f,b [ ]
e DDOOD:O0ODO {y} coooo 000 v
explanatory variable
e [ O O O
body size
° )
ErEiZEtEn i) 0000
e JOOO {fi} ooooooo
‘ ooooooo
sample size
oo
control
e 000 (fi =C): 50 sample (i € {1,2,---50})
treated

e 0000 (f;=T): 50 sample (i € {51,52,---100})

kubo (http://goo.gl/76c4i) 00000oooooo (1) 2019-01-21 41 /96


http://goo.gl/76c4i

OO0oo0O0OO0000: ooo00000oooaO jo0oo0oo0ooO0ooooooooooooon?

Reading data file
O0doooodoodn

Q gooon
data3a.csv 0 CSV (comma data frame d 0 0 O
separated value) format file 0 0 0O O .4
RODODODDODOOODOOOOOoOoO:

y x £
1 6 8.31 C
2 6 9.44 C
> d <- read.csv("data3a.csv")
3 6 9.50 C
000040000000 data ~-0poo...
frame (J00D0O00) 0000 9 T 10.86
00 100 9 9.97
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0000000000 000000O00OOooo?
data frame d 00O 0O: OOOO0OOOO

> d$x

[1] 8.31 9.44 9.50 9.07 10.16
[9] 9.93 10.43 10.36 10.15 10.92

L..ggoo. ..

[97] 8.52 10.24 10.86 9.97

> d$y

[1] 6 6 61210 4 9 9 9 11
[17] 3 8 5 5 411 510 6 6

...0ooo...
[97] 6 8 7 9

kubo (http://goo.gl/76c4i)

0oO0o0O0ooooo (1)

8.32
8.85

6 10
7 9

10.61 10.06
9.42 11.11

6 10 11 8
310 2 9
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00000000000000000000000?
data frame d OO OO: “O00” OO0O0O

goobooobooobo f000bboobbogon

> d$f
[fJccccccececceccecceccececececececececceccecceccecceccc
[26 CCCCCCCcCCcCccccccececcececcecceccecceccecceccc
B1] TTTTTTTTTTTTTTTTTTTTTTTTT
[76] TTTTTTTTTTTTTTTTTTTTTTTTT
Levels: C T

data type: factor levels

gooogbo:-b0o00booooboboon

levels

gboboocoTO 200
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OO0oo0O0OO0000: ooo00000oooaO jo0oo0oo0ooO0ooooooooooooon?

data type and class

ROODODOODOODOOOOO

> class(d) # d 0 data.frame OO0

[1] "data.frame"

> class(d$y) # y UODOODODOO integer OO O

[1] "integer"

> class(d$x) # x U0 UO0OO0OOOO numeric OOO
[1] "numeric"

> class(d$f) # OO0 f OO factor OOO

[1] "factor"
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OO0oo0O0OO0000: ooo00000oooaO 00o0oO0o0o0o0o0ooo0ooooooooooono?

data frame 0 summary ()

> summary(d)

Min.

1st Qu.:

Median :

Mean

y

3rd Qu.

Max.

~N 0 o N

.00
.00
.00
.83
:10.
:15.

00
00

Min.

1st Qu.:

Median

Mean

3rd Qu.

Max.

kubo (http://goo.gl/76c4i)

7.
9.
:10.
:10.
:10.
:12.

190
428
155
089
685
400

C:50
T:50

0oO0o0O0ooooo (1)

2019-01-21

46 /96


http://goo.gl/76c4i

Oo0oooooooooag!

> plot(d$x, d$y, pch = c(21, 19) [d$£f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))

0
3H° ¢ .
e T 0 .
N4 o .
o e o e
S+ oo e o wom
2 . e emosomw o .
T o0 o e e @0 e @ 00
o e ee e
© —| oe eocamw e ®om o0 e .
° © e cee
< - o ©o .
o .
AN — o
I I I I
7 9 10 11 12
dsx
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0oO0o0O0ooooo (1)
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Oo0dd £f 0000000

> plot(d$f, ds$y)

o

s o
N —_— E
=R : |
o]
“7 ' :
< oooo
. .

T T

c T
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eV infalslafalalalsll O C 0 OCCOC0O0O0C0O000000

how to specify GLM
5. GLM OODOO0O0OO00O

probability distribution, linear predictor and link function

gobobobbboobboobooghb

OoooobooD leglinkDOOOOODOODO
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Ry ulululuiulululal O O 0000000000000
how to specify GLM
O0doooodoog

Generalized Linear Model
00000000 (GLM)

probability distribution

e J OO OO

linear predictor

e JJOOOO?
link function

e JODODOO7Y
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how to specify linear regression model, a GLM

GLM OOODOOOOoOOobOoooooooooo

Jooooogo

probability distribution Gaussian diStribution @ °

e[jUDODO: 0O O O O ) e

L4 |:| |:| |:| |:| |:| eg, /81 _|_ /32./1:@ J‘,.—" 5" 10 15 20

O000:(00)+4+(00) xa
link function identity link function

e [[UODO: ODOLOODOUO
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00 <« 00 (007?) 0000000000

e 0: 0000 (response variable)

e 00: 0000 (explanatory variable)

e NO0DOO (linear predictor):

(D0D0OO0D0ODOD0O)= 00 (00O, intercept)

kubo (http://goo.gl/76c4i)

+ (00 1)x(OOO00 1)
+ (0O 2)x (0000 2)
+ (00 3)x(0OOO 3)
n

0oO0o0O0ooooo (1) 2019-01-21
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how to specify Poisson regression model, a GLM
GLM OOOOODOOOOOoOoOoOoOoooooooa

Jdooododogo

probability distribution POiSSOn distribution © ooo/;'o
e | JOO:0OOOOOMO "
linear predictor ; oo mbo.S”
150—9 T 1
o |:| |:| |:| |:| |:| eg7 /81 + 523;'2 NJ 05 10 15 20
link function log link function

e 1ODOO:O0DODLOOOO
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how to specify logistic regression model, a GLM

GLM OOODOODOOlogisticDOOOOOOOODO

Jdodododoooood

probability distribution blnomlal dlStI‘lbuthH
e [ OO: O O O O

linear predictor

e0D0DDOO: eg., B+ Box;

8 9 1‘0 1‘1 1‘2
link function 0000000 a;

e JO0O0ODO: logit OODOOO
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ROODODODOOODODO (GLM) 0000 ......

probability distribution  random number generation GLM fitting
o 0o 0 o o o o O GLM OOO0OO

(D0) ODOoooooo rbinom() glm(family = binomial)
oood rbinom() glm(family = binomial)
oooooo rpois() glm(family = poisson)
oooooo rnbinom() glm.nb() in library(MASS)

(0D0) DOoooo rgamma () glm(family = gamma)
oood rnorm() glm(family = gaussian)

e ¢cIn() JO0OOOOOOOOOOOODOO

e GLMOODOODODODOODOOOOOODOOODOUOOOOOOODOODOODOOODOO
gobooooooboooooobooo
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otdotgobogbotobotdogod

3,j T seed number y; follows the Poisson distribution
ot ) ; o004 000 ODOODOOoODoDoooooo g
z.] - 00000
R N exp(=\i)
[ S S S p(i | Ai) = zyiuz
dsx ie

mean

00 ;000 OOOOOoOOoOooooooooooao...... ?
i = exp(B1 + Pax;)

coefficient parameter

e 0400 0 (0O0OOOO)
body size no f;, for simplicity

e x, OO ;:000D00DOf{0000D00D0O0
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eV infalslafalalalsll O C 0 OCCOC0O0O0C0O000000

exponential function

Oo0ooooooooo?

Ai = exp(B1 + Bo;)

\ (61,52} S|
v ={-2,-08} : = {-1,04}

o0 :0 N
0.0 0.5 1.0 1.5 2.0 2.5

od :goboog
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N Sl & - nonnnnrnnnonn
GLM 000000000000 « @ooo)

mean

o000t N

Ai = exp(B1 + Box;)
(>

log link function linear predictor
log(A;)) = Bi+ Bo;
log link function linear predictor

log(D0) =00000

logDDOOOOOODOODOODOODOODOODOOD
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RV NsNalaNaNslslsls@ O 0 OO0 0000000000
a statistical model for this example

Jooouoooogoga

Juoguoggod ]

probability distribution POiSSOIl dlstrlbutlon i:
e OO IOOOOMO

linear predictor e e
e 000D0D0: B+ Box s IR
link function log link function

e [0UODO: ODOLOODOUODO
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RO GLMOOOOOOOOOO OO0ooOoO0oO0O00OoOoo0O0oO0OOoooonO

6. RO GLMOOODOOOOOOO

gobbbooobobboooobooo

gopboobooooboooooooon
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RO GLMOOOOOOOOOO OO0ooOoO0oO0O00OoOoo0O0oO0OOoooonO

function

glm() O 0OOOO

> d

y x £
1 6 8.31 C
2 6 9.44 C
3 6 9.50 C
..goog...
99 7 10.86 T
100 9 9.97

Is that all?
gooa!

> fit <- glm(y ~ x, data = d, family = poisson)
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RO GLMOOOOOOOOOO OO0ooOoO0oO0O00OoOoo0O0oO0OOoooonO

glm() 0ODOOOOOO
BRAEMTBLT TV

Fit) <- (giml PR mwsmoii
vV o~ X,
family = poission(link = "log"),
data = d

) v o EsOEE (ABT)

data. frame DIETE

e JU00O (DODOO 2):000000BDDOOOY
e link 00: 00000 (yyUOD OOOO?
e family: DO UOOOOODOOO?
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RO GLMOOOOOOOOOO OO0ooOoO0oO0O00OoOoo0O0oO0OOoooonO

output

glm() 00O O O

> fit <- glm(y ~ x, data = d, family = poisson)

all: glm(formula =y ~ x, family = poisson, data = d)

Coefficients:
(Intercept) X
1.2917 0.0757

Degrees of Freedom: 99 Total (i.e. Null); 98 Residual
Null Deviance:" "1 89.5
Residual Deviance: 85 ~“"IAIC: 475
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glm() 0O0OOOOO0OO0

> summary (fit)
Call:
glm(formula = y ~ x, family = poisson, data = d)

Deviance Residuals:
Min 1Q Median 3Q Max
-2.368 -0.735 -0.177 0.699 2.376

Coefficients:

Estimate Std. Error z value Pr(>|zl|)
(Intercept) 1.2917 0.3637 3.55 0.00038
X 0.0757 0.0356 2.13 0.03358

...... @oooo) ..
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OO000000000000 (coooooooooo)

P (Estimate 0.0757, SE 0.0356)

(Estimate 1.29, SE 0.364)
b

0.0 0.5 1.0 1.5

eJ0 pO 00DODDOO DODDOODOO
ep 00000000 O0OD 0000000000
ep0 0500000 000 000000

(0:00000D00C0CCOO00000OooDoDooOoOoOOOoon)
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OO000000000000 (moooooooo?)
Po (Estimate 0.0757, SE 0.0356)

(Estimate 1.29, SE 0.364)
A

T \ \
0.0 0.5 1.0 1.5

e 00 9%% 00000000O0O0DO0O0OD —0O0OO
godd

e J000D00ODODODODODOY

e OOOLOOODLOObOObOODLObOObOObObLObODOLbDOO
oo ... goodd......
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RO GLMOOOOOOOOOO OO0ooOoO0oO0O00OoOoo0O0oO0OOoooonO

model prediction

Ooogod

> fit <- glm(y ~ x, data = d, family = poisson)

Coefficients:

(Intercept) X
1.2917 0.0757

> plot(d$x, d$y, pch = c(21, 19) [d$£f]) # data
> xp <~ seq(min(d$x), max(d$x), length = 100)
> lines(xp, exp(1.2917 + 0.0757 * xp)) s .

the figure shows the relationship

gbooobaboabodogad

between model prediction and data

ubogoogubooogabd

T
7 8 9 10 11 12
d$x
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00000000000 ooooooooooon  [ReRyNsisisisfsksiafs

r.00o0booogoon0 bbooooooooon
factor type

GLMOODOOOOoOO

o0 +000 00DbOo0oboon
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00000000000 ooooooooooon  [ReRyNsisisisfsksiafs

incorporate the fertilization effects in GLM

Oo0o0o00 00000000

j c. seed number y; follows the Poisson distribution
T . ; o000 w000 ODOODOOoODOoooooo g

| “‘ . ooooo

o I A exp(—N\;)

e p(yi | M) = = 1( Z
dsx Yi-
mean

00 ;000 MOOOOOoOoo
\i = exp(By + Bazi + Bad;)

fertilization effects coefficient
e S 0O0ODODOOOO O O O

dummy variable

e ;000000

440 (i=cDOO)
11 (i=TDODO)
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00000000000 ooooooooooon  [ReRyNsisisisfsksiafs

output

glm(y ~x + £, ...) 00O

> summary(glm(y ~ x + f, data = d, family = poisson))

.@) ...
Coefficients:

Estimate Std. Error z value Pr(>|zl|)
(Intercept) 1.2631 0.3696 3.42 0.00063
X 0.0801 0.0370 2.16 0.03062
fT -0.0320 0.0744 -0.43 0.66703
...... (oooog) ...
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00000000000 ooooooooooon  [ReRyNsisisisfsksiafs

model prediction

x + f 000

> plot(d$x, d$y, pch = c(21, 19)[d$f]) # data

> xp <- seq(min(d$x), max(d$x), length = 100)

> lines(xp, exp(1.2631 + 0.0801 * xp), col = "blue", lwd = 3) # C

> lines(xp, exp(1.2631 + 0.0801 * xp - 0.032), col = "red", lwd = 3) # T

L]
- .
o .
N o . o
o e o L] L]
=
2
T 00—
o
<
o o L]
N — o
| | I T I
7 8 9 10 11 12
d$x
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00000000000 ooooooooooon  [ReRyNsisisisfsksiafs

multiple explanatory variables

Jodouoboooobooouooood

® fi=C: A\ =exp(1.26 4 0.0801x;)
o fi=T: A = exp(1.26 + 0.0801z; — 0.032)
= exp(1.26 + 0.0801z;) x exp(—0.032)

0000000 exp(—0.032) O

’<
s oooooooooono!
O
]
[1S- control
O 00D
fertilizatior
oo
10—
T I T I
5 10 15 20
ooodo x;
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00000000000 ooooooooooon  [ReRyNsisisisfsksiafs

model interpretation depends on link function

Jodouoboooobooouooood

log link function identity link function
(A) 0000000 (B)ODODOUODOOD
A =exp(Bi+ Paz +--) A=+ B+
multiplicative additive
<. | 0o oD .| 00D
= =
|
|
- o o
= —
O oo
agoon
o — g
T T T T T T T T
5 10 15 20 5 10 15 20
0000 = 0000
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00000000000 ooooooooooon  [ReRyNsisisisfsksiafs

probability distribution link function

GLM: 00OO O O 0O 0O 000000000

goooOoOooooooooooboooon O000OoOdO0OlbgOODOOOODOOOOO
o o o ,io
©— o ©— o/
o o o Jo
~- ‘,."' <~— K
= /Do" o = og7d o
o~ ’,—” ~— e
Qe~"l oo o [ele] 0Q.-0
° Segeet % T 1 © =) =60 T 1
- 5 1.0 1.5 2.0 05 1.0 1.5 2.0
o] T o] x
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00000000000 ooooooooooon  [ReRyNsisisisfsksiafs
statistaical models appeared in the class

Jodouoooooodoouod

BEETILORE
EERAXETIL
(HBM

) MCMC
o8 EE&
BErETYY N o

’ —&mﬁ%Eéﬁew

WESEAE

kA JEB T
) BRmEE
(S
e 3 L .
B ohn —MRILIRFZETIL
(GLM)
Eiﬁﬁ?ﬁu%& /N K
RN EHD —
Ry IR BEETIL

goboooboooobooboooobooboonoobg
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“NOOOO k000000 0000000 gOooooooooooo

8. “N 0000 k00D DOOO”OoDOoODODbOOOO

gobobbooooobooo

ooooobooooboooobooo
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“NOOOO k000000 OOooOoooO goooOooooooog
example seed survivorship, again

O 0O:000uoooogd

e OO0ODOODOOODODOO
e 0:00DO0ODOODODO

e O0O0OOO 80O OOOO
ooo

[
O
oo« RN

e 000000000000
oo

e JO0O:00 2000000 160000000000 0O00OO
e 300000000 —0ODOODODODLODODODO
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OO0000000000000000000 O

gogogoooond o012 345 6 7 8
goggoooog 12136 6 100

goooo o~
ooooog«+ T

T T T 1
0 2 4 6 8

ugboooboooog v

gobgoboobooooboon
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“NOOOO k000000 0000000 gOooooooooooo

binomial distribution

gootd g o O o oOogod

e JUUU0O0OULOLULOLUOLULUUOD DDDbLDDDO
godd

e[ .0 NUUOD g, ODUOOODOOO

7

plyi | q) = <N?>qyi<1 N,

e JUUULOOODDDOO

e IO DOO
e 00 ODDLDLODLDLDDLDDLODLDDDDDOD g
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“NOOOO k000000 0000000 gOooooooooooo

000
O0: 200000000000000000

e 000D {y}ODODOODOODO

e JUOO gUOOODOOOOOOOOOO
likelihood

e [ U O20000b000UOLOOOLOUOLDODOO
goooogn qDDDDDDDDDDD

L(ql{yi}) Hp vi | a)

goooooonb o1 2 3 45 6 7 8
goooooob 121 36 61 00
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O00odboododdn

e 00D L(¢|0DDO)00DOO0OD00OODOODOOOO
OO0 qUO0OOb0Od
e OOOOODODOO

20 N
logL(qDDD)Zlog< Z)
i=1

Yi
+_ {wilos(a) + (N — ) log(1 — )}

e OO DLODODLDDOOOOOOOOOOO0O0O000 gq
Uooooooooooodn

kubo (http://goo.gl/76c4i) jooooooooo (1) 2019-01-21 81/96


http://goo.gl/76c4i

“NOOOD 000000 0000000
maximum likelihood estimation

0 OO0 O (MLE) 0000

gOooooooooooo

e 0000 L(q|D0OD0O)0DOOODOOOOODOD ¢qOOOO
googod

e D000 logL(g|000)O
¢000000 0000 §
goooooo
dlogL(g |O00O0O)/0g=0

e 00D ¢gLOOUOOODO
gobobooobooobon

uo
. opoooo 73

T Hoooo - 160

_4}0

log likelihood
4i5

_5I0

=0456000
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O0Oo0ooooooo 8000 v 0000

§=046 000 (5)0.46% 0.54%Y

o

— T T T 1
0 2 4 6 8
ooooooonog vy
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“NOOOO k000000 OOooOoooO goooOooooooog
how to specify logistic regression model, a GLM

GLM OOODOODOOlogisticDOOOOOOOODO

Jdodododoooood

probability distribution blnomlal dlStI‘lbuthH
e [ OO: O O O O

linear predictor

e0D0DDOO: eg., B+ Box;

8 9 1‘0 1‘1 1‘2
link function 0000000 a;

e JO0O0ODO: logit OODOOO
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“NOOOO k000000 0000000 gOooooooooooo

N OOOO yOOoOoOoOOoooooD..ooo

U000y oo ooo!
got«gdgobo»dbdonogg

D0 popoo N =s

[ JOX Ne)

oo f 0e00
coooo Ooo00 y =3

T:0000 0000 (alive) O o
0000 (dead) O o

googd x;

F g
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“NOOOO k000000 0000000 gOooooooooooo

Reading data file
noooooooon R

datada.csv 0 CSV (comma separated value) format file OO OR O
O000oooooooooon:

> d <- read.csv("datada.csv")

or

> d <- read.csv(
+ "http://hosho.ees.hokudai.ac.jp/ kubo/stat/2014/Fig/binomial/datada.csv")

0000 d0000000 data frame (0 O0O0O0000)
goooon
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“NOOOO k000000 0000000 gOooooooooooo

data frame d OO 0O

> summary(d)

N y
Min. :8 Min.
1st Qu.:8 1st Qu.:
Median :8 Median :
Mean :8 Mean
3rd Qu.:8 3rd Qu.:
Max. :8 Max.

kubo (http://goo.gl/76c4i)

0 0 O O W O

.00
.00
.00
.08
.00
.00

Min.

1st Qu.:
Median :

Mean

3rd Qu.

Max.

© © O N

0oO0o0O0ooooo (1)

.660
.338
.965
.967
:10.
:12.

770
440

C:50
T:50

2019-01-21
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> plot(d$x, d$y, pch = c(21, 19)[d$f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))

o — ° cMeOOEOSG OO @ o

e o
- O
.

* e00 o o

ooooogon

fertilization effective

oobooooo goooooz?

kubo (http://goo.gl/76c4i) jooooooooo (1) 2019-01-21 88 /96


http://goo.gl/76c4i

falufsishala)afsialsls@ [ 0 O O binomial distribution O logit link function

logistic regression
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binomial distribution
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logistic curve
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1
¢; = logistic(z;) =

T+ exp(—)

> logistic <- function(z) 1 / (1 + exp(-2z)) # OODOOO

> z <- seq(-6, 6, 0.1)
> plot(z, logistic(z), type = "1")
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logit link function

o logistic O [
1

1+ exp(—(p1 + Pax))

q= = logistic(f81 + Pax)

o logit 0O

logit(q) = log 7 z e B+ Bax

logit [0 logistic O O O O O logistic O logit 0 O OO

logit is the inverse function of logistic function, vice versa

kubo (http://goo.gl/76c4i) jooooooooo (1) 2019-01-21 93 /96


http://goo.gl/76c4i

0000 binomial distribution O logit link function
ROODOOOOOOOO —p 0O 0o

(A) 000000000 f=c0 (B)OODOO0OOO

00 — o 00 0000 ® 00 —
oo o o

© - 00 © —

> glm(cbind(y, N - y) ~ x + f, data = d, family = binomial)

Coefficients:
(Intercept) X fT
-19.536 1.952 2.022
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